* BRI 5T -

= ¥ 200 ¥

IR FEH/E T W 4%

IR B B R




|

5 it B4

FBWIEERE RAFATHERIE 200 . KRB
B, EUWATN, B, RAA 5, TR, §—RRBEE
. BANREAMRIE,

HEicS
s e e (S R i ﬁnjﬁé 5 ) g = g §
T W a| ~—— | EEyE _ s g,-ig a
| W R Qﬁﬂ'ﬁﬁ_%g*ﬂlﬁ Y g
———% 2 & T~ |n o & P s %ﬁﬂ/‘j)ﬂ”\em'
= ih
——% # & + (0w F Fie)eyd S
. . BN 2
———— 0 # A | Huice KL
EER 4 BRI EER
B Bust J FE I #% AH Armhole H#iFE /I
W —— Waist  JEEB I HS Head Size SLE %

H—Hip BHE&H

BP —— Bust Point i & %K

NP Neck Point i & {#
SP —— Shoulder Point & & {{#5

B 5 84

(fé)¥+1+4. 5+0.5—1
w
(D7 +1+42.5+0.5-4-1

S +1-1)

KL —— Kneeline

LM

EL —Elbowline FT& {1

BL —— Bustline
HL —— Hipline

4 1/4 BB OhA B RS 2 AR UC IR - B vk

DS +1+1

Fa B2 R
W E K

) ‘
}E?& 1/4 JREE JACHA B BB FLAER  BUJS ER IR A - 50 7 2




4% 1% ]

3

I og™ 13
B CEE - ShED




14

(89) P
n
no

w
oy

i
214
/)
L/

V(CERtED I E-O

2

@ =

e

=
S

@
g 270
LR
o= "
'ﬁ‘/

1§
TEIMER 7 HEEE
Jr e BFH

R
I

%%? T

!(RI’EEH) (RRARD 95
o —f—

15 W
— —+3—0.5'—‘ 2 +3+0'5 -



7K 172

b=t

=
-

€

(Z°1 )i

(SR

\

E—E

e

J& B A R B R A



Kﬁiﬁ?&fﬁ

i
L]
™




THT

>k o T,
‘A
ol> = \,FH
= = 0 o
= e HE1.8 -
..vM..nD .wm..u
B 3 =4 o ANW = B
sl [f &3 S NPT ——
WT ) R e e A S
TR .% A“N\ \ o HTT
—-— - m V / zm
=3 o - LaS A\,
\ e W RO s \._m\\\ K
BRI, NS L4
l%_ —_— % N— _ AO-A_Q 4 /8 \
+ =4
= B + S
f #M @ _.4 = ~ W_D_ ’%Andw_.ﬁn < b
o~ W < sl
MR =g L | \ AL
N — = m <= y
3 <) - = S P, /RRNM <
BE18 KEERS =



st 136 IR 5 A o

(ST J) It 5

B i F IR AY +
12 = , 4 , Z—Tk it 23
# JEAHH SN A5
B Q!
é - /,
B 15 mjﬁ/ LN
= ﬁﬁ VI\*— -+ ‘«/’ J=E
o 2,5] 351 | 1435
e\ o AL 05
. | - EL Z 05
/ Bl i 0 W] V. 4 -J i
2
35
9\eA35
. <
1335 35




= 113

| s
T
BT Ay

- HT 28 8 Gl Ao
Ja R % Gil A

28 3 47

« LR
3RIT 5
4
i
T
Wi FFOEA 173 B8] 5 A A7) g
' ™ 4
[ 15
: £
| 16 7 AE_O'
3" fu
(i)




I E

N




3t 121

(o+e)x15

{

|

[

1
35

W
gpeo ® g
- YR -
=3 X
i
o =
S ‘© -~
H m IR
- B] # ¥ g
& - Ble® B |m|Y
= HE e
T
© ¥ w
s
o
Y/
W
uj =i
#m. ,.,UWA_YA
w1 |
= _ ——
.W. Huu_.A
ﬁ. _ . | oEK
> o8 N o O (KB
-~ Fd M (67) S

(18.7)



a

)5

—

BOFRFE ——

>=

e mEOy 8

S

10

337
1405 35

A 90




A=
2 SH
i,

)

R SEE)S Tk
R
@b

(Z B FET 8¢

354

STTEHEN [EBEN

WhM T R

:ﬁimﬁ%
gk MY o0

HLE 50 J& b A

11



12

LT10

I EE4Y 5ChnSE R E)
:‘éé_éf__

B

s R R
45

a

N
~

2
18 pirap+05 05

2 13 13

S /’\ua’s

3




\

B RES R ZR ST
IEETO

’T.
[m]
Ik
=
75| /5
Eoow
E
5]
A
b \
3 85
g ——

13



% B

4

B

==

o]
—

= 72

?k

He O &
(X BUgHC D)

(700

115

115

14



L°0 B EB IHT
ER4t ad BFH

15



